3.8 Rewrite Equations in Function Form; Rewrite Formulas
The equations 2x + 5 = 11 and 6x + 3 = 15 have the general form ___________________

The equation ax + b = c is called a literal equation because _______________________

_______________________________________________________________________

When you solve a literal equation, you can use the result to solve ANY equation that has the same form as the literal equation.

Example 1: Solve a literal equation

Solve ax + b = c for x.  Then use the solution to solve 2x + 5 = 11.

Solution:


Step 1:  ax + b = c

Write original equation

Step 2:  

(If you have to divide by a variable when solving a literal equation (which happens when the variable is in the denominator), you should assume that the variable does not equal 0.
An “equation in two variables”, like 3x + 2y = 8 can be rewritten so that one variable is a function of the other variable.  This also works with a formula where there are two (or more) variables.  
Example 2:  Rewrite an equation.

Write 2x + 2y = 10 so that y is a function of x. 

Solution:        2x + 2y = 10

Write original equation.


Example 3: Solve and use a formula

The area A of a triangle is given by the formula A = ½ bh where b is the base 
and h is the height.
a. Solve the formula for the height h.
b. Now use the rewritten formula to find the height of a triangle that has an area 
of 64 cm² and a base of 16 cm. 
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Checkpoint Write the equation in function form.

1. 2x + y = 5




2.  3 + 3y = 9 ( 6x
Ex 4: see p 186


Checkpoint Complete the following exercises.
3. a.  Solve a + by = c for b.

b.   Solve ax = bx – c for x.  






























